12.19.23

#12. 
$$h(t) = 5t^2 - 30t + 45$$

a) set  $h(t) = 20$ 
 $20 = 5t^2 - 30t + 25$ 
 $0 = 5(t^2 - 6t + 5)$ 
 $0 = 5(t - 5)(t - 1)$ 
 $19. b) 3(x-2)(x+1) - 4 = 2(x-1)(x-1)$ 
 $3(x^2 - x - 2) - 4 = 2(x^2 - 2x + 6)$ 
 $3x^2 - 3x - 10 = 2x^2 - 4x + 2$ 
 $x^2 + x - 12 = 0$ 
 $(x-3)(x+4) = 0$ 
 $x = 3(x = -4)$ 
 $x = 402x + 20+2x$ 
 $x =$ 

## 4.3 Solving with Vertex Form

- \* It is sometimes easier to solve a quadratic equation when it is transformed into vertex form.
- \* To do so, we must remember that if  $x^2 = a$  then...  $x = \pm \sqrt{3}$ ex. Solve the following.

a) 
$$x^2 = 13$$

$$\chi = \pm \sqrt{13}$$

$$x = \pm \sqrt{3}$$
c)  $3(x + 5)^2 - 40 = 0$ 

$$3(x + 5)^2 = 40$$

$$\chi_{+5} = \pm \sqrt{\frac{49}{3}}$$

$$\chi = -5 \pm \sqrt{\frac{40}{3}}$$

b) 
$$(x-3)^2 - 16 = 0$$

$$(x-3)^2 = 16$$

$$\begin{array}{c} x = -1 \\ x = -1 \end{array}$$

d) 
$$-2x^2 + 4x + 3 = 0$$
 ?  $6$ ? = -6  
Convert to ?  $+$ ? = 4  
vertex form! not factorable

$$\chi = -5 + \frac{40}{3} = -5 - \frac{40}{3}$$

$$0 = -2(x-1) + \frac{-5}{-2} = -2(x-1)^{2} + \frac{5}{2} = (x-1)^{2} + \frac{5}{2} = x-1$$

$$X = \frac{-b}{2a} = \frac{-4}{2(-2)} = 1$$

$$f(x) = -2x^{2} + 4x + 3$$

$$f(1) = -2(1)^{2} + 4(1) + 3$$

$$= -2 + 4 + 3$$

$$= -5$$

= 5  

$$(p,q) = (1,5) \Rightarrow \text{ventex}$$
  
 $-y = -2(x-1)^2 + 5$ 

